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PSYCHOLOGY
PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.
1.  Which of the following is an application of operant conditioning ? {
(1) Aversive conditioning (2) Behaviour modification 'f; )
(3) Systematic desensitization (4) Transfer of learning { r
2. The basic assumptions of Humanistic approach : . g
(a) People are naturally striving to be creative and happy. \ {
(b) It is possible to specify an universal set of:’/alues that will provide people with moral
anchor enabling them to decide what 1s||. rlght or wrbng and good or bad.
(c) It believes in uniqueness of individuals'and th: sh_ould be trained to realise their inner
potentials. EY
(d)  All the innate potentials and growth mechanisms can beé studied scientifically similar
to natural success. A (
Codes : < | §
1) @and(®) pni () ()and(d) (@) (c)and (d)
3. Deductive and inductive reasoning refers to :
(a) Universal to unilversql (b) Universal to particular
(c) Particular to particular (d) Particular to universal
Codes : -
f1) (@ b jf V@ © @ ) (®), @) @4 () (©
4.  According to Wallas creative performance completes through following sequence :
(1{ Preparation — Illumination — Incubation — Verification
(2 ) . Problem funding — Problem Identification — Incubation — Insight
(3)  Broblem identification — Preparation — Incubation — Illumination
(4) Preparation — Incubation — Illumination — Verification
vous AN
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5.  Read each of the following two statements :
Assertion (A) and Reason (R) and indicate your answer using the codes given below :

Assertion (A) : Gf and Gc correlate positively with each other across the age levels but with
moderate magnitude.

Reason (R) : Gf and Gc have different growth patterns. Gc grows rapidly in childhood
and adolescence whereas Gf grows rapidly during adulthood.

Codes : :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A). \ p
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). {
(3)  (A) is true, but (R) is false. f
(4) (A) is false, but (R) is true. d
ki
6. In absorptive phase of energy metabolism, what is the position of insulin and glucagon
hormones ? /.-4' »
(a) High insulin (b) High glucagon
() Low insulin (d) | Low lucagon
Codes
(1) (a) and (b) (2) (b) and (d) and (4) (a) and (d)
4
7.  Pygmalion effect is : -« |

' L
(1) Exceptional fall in the pérformance of a student as a result of teacher’s expectations

2)  Exceptional progress made by a student as a result of teacher’s expectations

()
(3) Exceptional fall in the performance of a student because of peer competition
(4)

4)  Exceptional progress {made by a student as a result of peer competition

8.  Which one ofithe following semantic dimensions are measured by the “semantic differential
scale” ?
i -~
/(1) Evaluation and'potency (2) Potency and action
(3) Evaluation land action (4) Evaluation, potency and action
9.  Conversion Disorder (Hysteria) is now placed in the category of :

(151 Anxiety Disorders
(2) ‘j'. Anxiety related Disorders
(3) Somatoform Disorders

(4) Psychological Factors Affecting Physical conditions

vous [ HIFRNITATIN
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10.

11.

12.

13.

14.

vous ]

Suppose Merry wants to know if she can learn Spanish by playing some language tapes
while she sleeps. Her question concerns the general topic of and according to the
text, the answer would most likely be

(1) Subliminal perception; may be  (2) Signal detection; no
(3)  Subliminal perception; no (4) Signal detection; may be

Read each of the following two statements : o
f
Assertion (A) and Reason (R) and indicate your answer using the codes given.below.

Assertion (A) : In the randomized two-group design, if the mean difference betv\‘l(een the
two groups is analysed both by t and F tests, F is always larger thant.

Reason (R) : In the randomized two group design, the t?=F. ’
Codes : . F
(1) Both (A) and (R) are true and (R) is the correct e‘xplanati*bn of({(A).

(2) Both (A) and (R) are true, but (R) is not yﬂé correct iexplanation of (A).
(3) (A) is true, but (R) is false. ..'
(4)

4) (A) is false, but (R) is true. f

Which one of the following laid down the social foundation of organizational behaviour ?
(1) Viteles (2) Munstm?berg (3) T{ylor (4) Mayo

</
Which theories of personql_iky'i are considered third-force-movement in contemporary
Psychology ?
(1) Psycho analysis (2) Behaviouristic
(3) Humanistic/ Existentiial (4) Cognitive

Read each of‘the following two statements :

/ Assertion (A) and Reason (R) and indicate your answer using the codes given below :

Assertion (A) : Ego-involved learners are driven by performance goals.

Reason (R) : 'Ego-involved learners are preoccupied with them serves and are concerned
| with their evaluation by others.

Codes : |

(1)|'* Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) " Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

=)}
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15.

16.

17.

18.

19.

;4

According to Piaget, which is the primary motivating force behind development :

(1) Accommodation (2) Assimilation (3) Equilibration  (4) Adaptation

Read each of the following two statements :
Assertion (A) and Reason (R) and indicate your answer using the codes given below :

Assertion (A) : Method of loci helps keeping memories intact and retrievable.

Reason (R) : Familiar loci are already organized in our long term memories ‘
Codes : 'f; )
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)f r
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false. : .

(4) (A) is false, but (R) is true. £ -

. L |i
-
Which one of the following biases play impor;éﬁ role in stereotyping and prejudice ?

(1) False consensus (2) r-"IIllusory co;’lrelation

(3) Priming (4) f Confix"n?.ion

Which of the following glands does .%ecrete sex steroids ¥Hat are released by the gonads ?
(1) Adrenal medulla “‘(2) Anterior pituitary
(3) Adrenal cortex \ ¢ (4) Pancreas

Vi

Which one of the following was not an assumption of the foundation of “Scientific

Management” propounded by Taylor ?

(1) Interest of Ernpioyer @nd employees are the same.
(2) Employees mostly want high wages/salary.
(3) - Employesiwant a low labour cost.
(4)

Managems?x of incentives has great value.

20. Which one of the following proposed the “ABX” theory of dyadic attraction ?
(1) » Header .| (2) Jones (3) Newcomb (4) Lombardo
\
21. The statement, “Normalcy and Abnormalcy differ in degree not in kind” represents the
- of abnormalcy.
(1) Deviance Criteria (2) Personal Discomfort Criteria
Statistical Criteria (4) Social Discomfort Criteria
HIH\IIHIIIHHI AT : —
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22. According to signal detection theory detection of stimuli depends on :
(a) Their physical energy
(b) Internal factors like relative costs
(c) Absolute threshold
(d) Internal factors like benefits with detecting their presence
Codes : -
1) (@), (b), () 2) (), () (@) ®) © @ @ @ (@) @) (C}),
23.  Which of the following are the sources of error in social cognition ?
(a) Counterfactuals thinking 3 .
(b) Thought suppression d " -
(c) Magical thinking ,/'/ : , ;
(d) Judging by resemblance Ilr.-" | I.'I
Codes : [ J
(1) (a) and (b) (2) (@) (b)and () (3) (‘)%C) and (d) (4) (c) and (d)
24. Match the items of List - I with the Ttems of List - II( Select the correct response from the
answer codes given below : < j‘:
List - I l " List - II
(a) Latent learning (i) Learning a response to terminate an aversive
stimulus.
(b) Cognitive learning ~ (i) Occurrence of learning is not evident in
behaviour until later.
(c) Escape lea'rning (iii) A changeinthe way of processing informations
4 as a result of experiences.
/(d) Avoidance‘fear-{ling (iv) Learning a response to avoid an aversive
stimulus
Codes : :
S @ () (@9 (@
M, G @@ 0
@V G 0 )
G d) (v) (i) (i)
@ ) @) 0 G
IH\II\IIHI [l 10 -
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25. The diagram below is an example of :
The boy hit the ball over the fence
(1) Constituents (2) Linguistic Universals
(3) Morphemes (4) Underlying representation
26. Creativity is considered to be grouded in Right Hemisphere because : f
(a) Left Hemisphere specialises in sequential and analytical processes. " | é
(b) Right Hemisphere specialises in global, parallel and holistic processes. f
(c) Left Hemisphere is involved in generation of novel ideas. d
(d) Creativity involves divergent thinking that is function of right.hemisphére.
Codes : , (
(1) (@) (b)and (d) (2) (b) () and (a /(531 b. ) and () (4) (b), (c) and (d)
|
27. Read each of the following two statements :rI
Assertion (A) and Reason (R) and indicate your anS\/:r using the codes given below :
Assertion (A) : Being awake disrupgs :he homeostas"zs '(-)thhé body.
Reason (R) : Sleepis termin{c‘ed{by a return to homeostasis.
Codes : Vi <
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is {false
(4) (A) is false, but (R) is true.
"4
28./ Which one of thé following can be primarily employed to assess creativity ?
(1)  Abstract thf:lkir;g. (2) Convergent thinking.
(3) Divergent thinking. (4) Symbolic thinking.
| |
29. Which of the following psychologists first empirically established that social stress distort
physical health ?
(1) : Selye (2) Lazarus and Folkman
(3) Holmes and Rahe (4) Srivastava and Pestonjee
g 2 Fapeca
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(b)  <feroft e oo, TR aem 93 giwRanet o foeriea T | ( f
(c) o T Fefie fo=mi & gor H Her 7 |

(d) wﬂwﬁmﬁmaﬂﬁ%ﬁ%ﬁﬁmﬁﬁwémw? .

(1) @), ®)FRE) (2 () (I () ,463‘ (d), fbpaﬁu«:) (4)  (b), (0) FR(d)
IlI |

ﬁmﬁ@aamﬁmm(A)aﬁzw(ﬁiaﬁw@’%?{ﬁm@wwm@m
W?ﬂﬁm: F
afreRerT (A) - aﬁwﬁmmﬁwﬁq@aﬁﬁaﬂaﬁ%‘(‘ ‘
& (R) : W&aﬁﬁwﬁ@%aﬁwﬁaméaﬁ%
%< b S
(1) (A) 3R (R) T T T 3R (R), (A) T T AT
2) (A) ¥R (R) S HE &, ATHA (R), (A) T TEl =0 & 7|
() (A) 5 ?, A(R) T
(4)  (A)TTerd & e (R) T € |

"
qSiehall k1 HeAlRA T v GeAa: e # § foraeht ST foha ST wehdi 7 2
(1) omd e | ) afEr fea
() eruEr oA (4) it feraA

|

et JeTesohl § 9 fohe STqerias &6 § 78 T foha o qrsieh gore e e
1 G AT © 2
1) def (2) ASRE R ErEE
(3) TR (4) Here iR TSt

p—
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30.

31.

32.

33.

Which of the following two styles of leadership were identified in Ohio State Leadership
studies ?

(1) Employees - centered and production - centered

(2) Initiating structure and people oriented
(3) Initiating structure and consideration for relationship
(4) Authoritarian and democratic
£
Read each of the following two statements : L

Assertion (A) and Reason (R) and indicate your answer using the codes given belqﬁXI §

Assertion (A) : The recognition - by - components (RBC) model proyides a methed for
recognising three dimensional objects across variations in new points.

Reason (R) Any three dimensional object can be generally describedaccording to its

parts and their spatial relations. g1 -
Codes : y \ {

(1) Both (A) and (R) are true and (R) is the 96‘frect expllanation of (A).
(2) Both (A) and (R) are true, but (R) is no}"‘ the correct/explanation of (A).
(3) (A) is true, but (R) is false. [ I _“I

(4) (A) is false, but (R) is true. \ ‘I/

Which one of the following may notke put in the cate'ng}; of “Absolute Standard” methods
of performance appraisal ? ( .

(1) Critical incidents method "% { (2) Behaviourally Anchored Rating method
(3) Ranking method __k A (4)  Checklist method

Match List - I with List <“II and select the correct answer using the codes given below :

List - I (Desigris)

List - II (Features)

(a) Randomized block design (i) Each subject participates wunder all
d experimental conditions.
(b)  Factorial ﬁesign (i) Analyses the data for matched groups
" (0) Single-fact"f repeated measures (iii) Suitable for studying the interactions among
design | the independent variables
(d) Design with a covariate (iv) Employs statistical control
Codes : .|
a (@ (b) () (d)
Dy Gi) (@) @v) (@)
(2) o @) (@) @ @)
G) @) @) @O @
4 @) (@) @) @
a1 1
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30. e T Aqca stemeHl e ° @ o < g dferdl &t vee g8 ?
(1) wHHaRI-HEd iR 3eared Ffsd
(2) SUHH-TEAT IR AN
(3) SUHHI-FTEA TR Tl & gfa S
(4) FIETE AR AR
31. freferfad <t el - afiere (A) iR @eh (R) 1 ufgu ok e fou 2 =1 S F¥d gu 7o
Wiﬁm:
AR (A): T g TeaM (RATHITH-aE -y (wﬁﬁ))wq@aﬁﬂﬁ%w
ﬁﬁa@wﬁﬁw%h%wm%
e (R): fepelt +ft - oTrmeit sreg 1 o ST o 3Heh Tfeh Toeli TR HHF=:
Ffvfd foran < HwaT B | '’
?z (A) 3 (R) S w81 # iR (R), (A)Hﬁﬂﬁ@}é‘!%ll a4 |
@) (A) 3R (R) 2 T E, B (R), (A)aﬁmﬁw‘l’?f%l
(3) (A)WEIE, W (R) T 2 | f :
4) (A)TeE ¥, AfFA (R) T8 2| ‘df .
32, ﬁmﬁrﬁaﬁ@aﬁqﬂﬁﬁaw"ﬁfaﬁ;ﬁwmﬁw%‘%%?
(1) whIf<asm-we fafy «f O HEgR-AMYa goar Ay fafy
(3) wife-mw fafy v @ eh-frem fafy
33. Gt - I gt - I1 o & {j;rcfld HIfT e FefafEad el &1 FA Fd g T ST 1 99
FHIfTT : o1 -
vﬁ-l(aﬁuaa—civ(%w)) T - 11 ( 31feteroT )
(a) WgFes® =i Afwed (feaa) (1) T Wy wft wreiifires wifeerferll # s ofd €1
(b) TR ST (i) gAfeTa qEl % oy arimel 1 fagervor &d § |
f (0 WWT@?WW (iti) A = o = FA—AARAT o F=IH & T
(d) W%h‘ﬂ'r?lf FAAfRey (iv) qu EREREIRRILCTGI k]
K3 |
L @ (B () (d)
(D Gi) (@) Gv) (1)
(2) I @) @) @ ()
@) @) i) @ ()
(4) @) () (@) (D)
vouts [ NN AT i Paperi
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34. Cultures of honour are characterized by strong norms indicating that aggression is :
(1) an inappropriate response to insults to one’s honour.
(2) an appropriate response to regards to one’s honour.
(3) an appropriate response to insults to one’s honour.
(4) an inappropriate response to regards to one’s honour.
¢
4
35. Discovery and understanding of our own abilities bring happiness but also bring feaf of new
responsibilities and duties. It is called : i F
(1) Electra complex (2) Jonah complex by
(3) Motives conflict (4) Motive to avoid sticcess !
- \ (
-
36. Memory for surprising and consequential eV(;;ﬁts (emotio1l'l1a1 public events) are known as :
¥ | I
(1) Photographic memory (2) [ Flash ?ulb_-"lmemory
(3)  Iconic memory (4) Implic t#éemoryJ
A (
37. Intimacy, Passion and Commitm@\nt fare the components of :
. )
(1) Romantic Love Vi (2) Companionate Love
(3) Infatuated Love (4) Consummate Love
{ -
38. Which of the following are innate behaviours :
(a) - Reflexes 4 (b) Taxes
/ (c) Fixed Actidf\ Patterns (d) Genotype
Codes :
(1) . (a) and (c)jonly (2) (@), (b) and (c) only
6 @0 and (d) only (4) (@ (0, (© and (d)
v
39. Which'one of the following proposed the “response inhibition” theory of extinction ?
(1) Hull (2) Guthrie (3) Tolman (4) Deese
g y papeca
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34.

35.

36.

37.

38.

39.

ad

T 1 SR T AFGUE] & AT § I qUINd g STFaAfed Bt ¢ foh STmehmehd -

(1) et % T 39 wgEE & favg omfad st T

(2) Tt & T ® FeH & 9fd 3fe iR B

(3) et % T =1 39 1AM & fowg sfed s T
) TRt % 9 1 S M & ufd eTfad TR T

(4

SO T8 &S] /A i TS 3T’ 3Heh] HH@@WW%WWQ@N%%W@T
Fiedl o a1Y W 9F H YA | T8 FRAI @ : f

(1) Soa ST (2) S hieTeiRd
(3) AT (4) Waﬁﬁwgﬁwﬁ_

-

Wﬁﬁwmﬁama@ﬁmﬁﬁwﬁf{:éwmmmm@ﬁwww%?
(1) TRREIHE® Tfd T
(3) STgEFTH T Wﬁ%
Hﬁwwﬁmﬁq@@aﬁémmﬁ

(1) =85 ud Vi . (2) @™
(3) IMRe 9 ' (4) wHeaEYH

¢ -
freAfafed & @ S 91 <l Ta8r & ?

(a) ‘El'ﬁia?f* (b) S

4 (© ﬁaam‘;rf?w (d) S ey (SfiHeEY)

@‘d‘:
(1) & (a) 3R () (2) HAA (), (b) ()
@) ¥ (a), (&) R (d) 4)  (a), (b), (c) 3R (d)

\l
frefafaa o 9 foean foetiom & gfafsran-sreiy "’ fagra o1 gfqare feam an?

(1) = (2) e (3) CrerH 4) o9

p—
N
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40.

41.

42.

43.

pous ]

Read each of the following two statements :
Assertion (A) and Reason (R) and indicate your answer using the codes given below :

Assertion (A) : An infant often acts as if objects stop existing when they are moved out of
his perceptual range

Reason (R) : The infant has not yet developed the object concept.
Codes :

Ty

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). { |
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true. : ,
E 3
il {

Rollo May’s views on personality developmen’f/_eén be described in following sequence :

(1) Physical Dependence - Pychological deﬁendence Rebelhon ordinary consciousness
of self - creative consciousness of self. ' _a'

(2) Physical dependence - Rebellion - ordinary conscibusness of self - self actualization

(3) Psychological dependence - physical dependence 4 ordinary consciousness of
self - creative consciousness of gelf f
&

(4) Physical dependence - psydhological dependence - ordinary consciousness of
self-Rebellion-creative ceinicidusness of self.

We tend to attribute_ to another’s behaviour to external causes when information is of :

(a) High consensus (b) Low distinctiveness

|
(c) High distinctiveness (d) High consistency
Codes : ‘4

HORNCOAE) ’? V@ @ (and(d (3) (b)(c)and(d) (4) (a) (b)and (d)

According to Kohlberg, and are the major reasons of moral behaviour
during the stage of conventional morality

(1) Gaining acceptance and Getting rewards

(2) ‘:" Avoiding censure by others and Achieving justice
(3) éaining acceptance and Avoiding censure by others
(4)

Avoiding censure by others and Achieving justice
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40.

41.

42.

43.

ad

frefafed 1 weAl - freRed (A) 3R @eh (R) 1 afer 3R = ST Fel 1 SU= 3 g 791
wa‘lﬁq:

FMIRAT (A): IS a1 TH: THT 1 X1 © A o I8 g e & o7el SH 9k Ureaferss & §
TS S

qeh (R) : oo hi - TR e1eft faenfaa el g €1
%<
1) (A) 3R (R) 3 W& T R (R), (A) 1 T =R
2) (A) R (R) I W &, AFFA (R), (A) T TE A TE 2 | /
(3) (A)WEIE, e (R) Terd € |
(4)  (A) e €, iR (R) el 2 1 :

. 4 % (
e T & ey | Tadl | o fa=ri &l Fdwr?,ﬁﬁ’?lmﬂfﬁrﬁhmmm%:
(1) iR FeiRar-wereR fFefRar-fasz- e =1 Q= Feed- 2 S Yo T
) eﬁﬁmﬁeﬁm—ﬁﬁg—waﬁwﬁﬁ—aﬂ\ :
(3) wAETE - Sifaw far-sme st = ~ ST i GO T

) fifdes frvRar-wereRT M-S 1 ' quddl ferI8—31TcH 1 YoTTcHeh el
Ny

@@ﬁ%w%mwwﬁwﬁqﬁﬁmﬁmﬁﬁmgﬁ%mwww
BE:

(a) TEHIH “. . (b) g fy=ar
(c) fd fw=tan w | (d) Ifd TemeTar

<

(4

D@k 2 @) ©3(d) () (), QI @) (a), (b)3M(d)

CARGEE |é€m1{+|{¢{q‘{m‘d AfcreRdT =0T o QR Afdeh HeTeR & & R0 3R
B,

(1) wﬁﬁrzﬁamaﬁiwww

(2)‘ J T g0 TR R ST 9 S a1 YT HE
(3) AT S e qen R v e S A S

(4) TEU GRI T &1 S § F=1 A =T I HTAT

p—
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44.

45.

4

Match the List - I and List - II ; and select the correct answer from the codes given below :

List - I List - II

(a) Sufficient cause (i) A condition, existence of which guarantee for the
genesis of a mental disorder

(b)  Reinforcing cause (i) A condition that tends to maintain maladaptive
behaviour that has already occured

(c) Contributory cause (iii) A condition that occurs relatively in early life and
may not show its effect for many years

(d) Distal cause (iv) A condition that increases the probabﬂlty of a
disorder -.f‘; )

Codes : 3

@ ® © @ "

M) @ @) @6 ;

@ O @ @) () <2 .

@) (v) @) @ @ k. &

@) @) (O @) () | !

£’

Match List - I with List - IT and choose your ,énswer by using the codes given below :

List - I f [List - 11
(Name) ‘) (Feature)
(a) Template Matching Model (i) ];‘gextenlt to which Spatial relations
deviate from the prototype.
(b) Feature Matching Model %4 (i) Description of three dimensional objects
{ adcording to their parts and spatial
*“ relations.
(c) Recognition-by- Compongﬂt Model (iii) Visual analysis detects colours and edges
(d) Configuration Model (iv) Recognition of bar codes and finger
. prints.
Codes : g1 -

(@ (®). (© (@
1) () @) |G (@)
(2 () (i) Gv) ()
@) (v) (i) ,,(111) @)
(4 (v) (i) fi) \ (i)

46. Which of the folllowing statements are true about the principal components analysis ?
(@) » Unities (values of 1) are retained in the diagonal spaces of the correlation matrix.
(b) The first ph‘mmpal component explains maximum variance.
(c), Principal components analysis follows common factor model.
(d)"“y Principal components analysis yields oblique unrotated factors.
Codes
(1) (a) and (b) only (2) (a) and (d) only
(3) (b) and (c) only (4) (a), (b) and (d) only
H||“||H|||H||||| il 2 —

www.examrace.com



44, et -1 SR geR - 1R gAferd i o A9 few T e § 4w s g

Tt -1 Tt - 11
(a) AT HR () el foed amfes fagmfa emEva Sa= gt 7
(b) TISAH HRU (i) UH feufa fSoH gIgars =EER 1 ST WA | Heg
foeTel & <1 Ueet & "fed S g1 e | |
() HeE® HRU (i) UE feafq S srdand SRR Sfem H 3o 2t © 3R
IHHT GHTE gd foAl qeh &1 o1 Tl | -
(d) TSR (iv) U feafa ST foreft faemifa Elﬁ‘awolrnaﬁ%ldl%l
%7 (s
(@ () (© (d * f
1) @) () (i) (D)
2 @ @) (v) (i)
(3) (v) (i) @) () e
(4) @) (@) (@v) (i) | | |
45. G- 11 gl - II%@%WWH%%@WWWWWW
Tt - 1 I“ it - 11
(m) ’ )
(a) <Tere B9 AIew (i) e el | Tenfes Heier for Hfien 9% ST € |
(b) e gher Hred (i) ST AOT.aW Nt Hee % orgEn e

i“x aﬁﬁaﬁ@ﬁﬂ
(c) ¥ N UBEH HIsd « /A (iii) gfie HeE foweroor i qem o7 it TE=H H ¢ |

L]

(FepTrem a1 FrMHe Ted)
(d) TR (FAFREE) ATed (iv) IR H q 3Tl B T TE=H
%<c:
(@) (b) (C) (@)
L @ @) ) )
2 @) () | (@v) (i)
(3) . (iv) (i) o (iii) (i)
@ (v (i) i ()

46. ﬁﬁwwﬁﬁ?ﬁ:}éﬁ%ﬁwﬁﬁwﬁmﬁaﬁ?waﬁmwﬁ?
(a) stamdw%ehMldq'{sehlsql(l%tlﬂ)aﬁ‘{'@'rw%l
(b) = e Wﬁzﬁwaﬁﬁwmﬁ
(c) frdiue < fargetoor ShiA et Afed 1 STER HAT |
(d),, Tide Feie faveryor § foeis S sew 9 e ¢ |

?i& Fret () A (b) () 9 (@) 30 (d)
(3) had (b) AU (c (4) &ad (a), (b) AU (d)
poass || II\IHIII :
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47. Find the correct sequence among the following oxytocin related events :
(a) Carrying down by axons
(b) Contraction of uterine muscles
(c) Synthesis in paraventricular nucleus of hypothalamus
(d) Secretion by neurosecretory cells in posterior pituitary
Codes : _
M) @ @ @0 2 © @0 6 @0, d© @ @ @c®o
L
48. Match List - I with List - IT and select the correct answer by choosing cgrrect code : ¢
List - I List - II
(Concept) (Explanation) y
(a) Situated Learning (i) Internalize }(r_}pwledg'e and skills developed in
interaction with others
(b)  Social Negotiation (ii) Aspectof learni; process that relies on collaboration
with ,others and respect for different perspectives
(c) Appropriate (iif) Skills are tle to tfle settings in which they are learned
and are dif to apply in new settings
(d) Cognitive Apprenticeship (iv) A relatlonshlgim which a less experienced learner
\ acquires knorlled“ge and skills in interaction with
“expert.
Codes : . J‘r
@ ® © @ "4
O O @ ) @
@ (i) () 0 @)
G i) 6. 0 )
4) @) @y §eE) (@
|
49. ; Which one of the following concepts is equivalent to the concept of “habit family hierarchy”
proposed by Hulll?
(1) Drive reduction (2) Cognitive map
(3) = Habit strefllgth (4) Means-end remedies
50. A I'psychotic disorder in which a person’s functioning is not markedly impaired, wether is
behaviour obviously odd or bizarre and free from hallucinations is called :
(1)  Schizo-affective Disorder (2)  Schizophreniform Disorder
(3)  Delusional Disorder (4) Shared Psychotic Disorder
vous AU 2 Paper
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47. IR | 21 Frefafad smal 6 w8l %8 Fa S

48.

49.

50.

(a) dfreRTer (THREM) G TE T
(b)  TITeTT i WU 1 A

() TENITHH IREfeger Afys § Hyamo
(d) v Tty | dfeRrEret iRt g e
¥z
10 @ D@0 @ @@ d®b G @0 de @ @@, (@), (C},,(b)
T - 11 it - 11 912 Gafad S oiR 98 fe 97 R a@ S| : | f
gt -1 Tt - 11
( &moT ) (=arE)
(a) e arfermm (i) maﬁﬁ%mﬁfﬁw—%ﬁﬁﬁaﬁwaﬁaﬂ?ﬁw
T STAfEHTHT |
(b) I At (i) S T B e e o R % e wed i fafer
Tafi & for R AR
€ ST (iii) hTeTE I ?%ﬂ%mammw%ﬁﬁﬁ
e ST & e PR ST 7% A § w3
(d) T e (V) & Teiy forel ww ermue fenedt ol @ foeme
- 1.{ foret Y I SR FIvTe B FLT R |
% : J

@ b © @
(i) (i) (i)« (1v)
(i) (v) @) {0
(iii)  (ii) | (i) (iv)
0 Gy, G @)
<

frreforfen & 9 = wrge, Te gR g ¢ $1ed-TRIR TeTgshH " & e % HHed § 7
(1) sT=<HR =) (2) EAMTCHS AT
(3)  smea-we, (4) wEA-gASE gfafage
|
o HAR fergmfel fore foreft afor o fomarmefteran st et B, Skt =eer +ft stever el 2 § 3R
SeH faym =1 feafa oft 721 e, 39 feafa &1 % € -

(1) wfaee fawfa (2) wAfaRETER famt
@) faym fowfa (4) ST HAR fergtd
vouss | [{ERATHININANIN 2 Papeci
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51. What is not typical of Atkinson and Shiffrin model of memory ?
(1) STMis engaged in complex cognitive activities.
) STM is gateway to LTM.
(3) Itis a sequential model
)

STM controls and enhances information to LTM

52. According to Erikson, adequate training, sufficient education and good modelsf (furing the

age range 6 to 11 years will lead to : /
(1) Initiative (2) Identity (3) Industriousness (4) ¢ Autonorﬁyr ‘
53. Read each of the following two statements : ¢

Assertion (A) and Reason (R) and indicate your answer usingjthe codes given below :
Assertion (A) : People’s fantasies would reflect their achievement concerns.

-
Reason (R) : All people strive to succeed ;)6; excellinlg at any task where evaluation is
possible. |

Codes : / (\ .
(1) Both (A) and (R) are true and (R) is the corre %planation of (A).

| I
|

(2) Both (A) and (R) are true, but (R) is not the correct gxpfénation of (A).
(3)  (A) is true, but (R) is false. 4 (
(4) (A) is false, but (R) is true™, J‘r I
Y4
54. Match List - I and List - IT and select the correct answer by choosing from the codes given
below : "
List -1~ List - II
. (Method){ (Effect on behaviour)

(a) Electrical-gtimulation of satiety centre (i)  Cessation of eating

. (b)  Electrical stimulation of hunger centre (ii) Initiation of eating

{ (c) Lesion of stietl'}'r centre (iii) Hyperphagia
(d) Lesion of hunger centre (iv) Aphagia

Codes : |
@ () (© (@

(IR @) @5 @) ()
(2) » @ @) () ()
G) @ @ @) @)
@ @ (@) @) (@)

pous [
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51. M 9 efeaa o fafr Wi eyl =) favmar =i g 2
(1) STM e HAHTH foRanet § = war g |
(2) STM,LTM &8GR |
(3) UE TH HiHw Ared 7
(4) STM, LTM & fere gt o1 fa=a01 ud gfg e 71
52. TR % SHER 6 ¥ 11 99 &1 1Y & o9 qar e, Wﬁmwaﬁxmmﬁﬁmﬁ#@a
BISEERE L
(1) T (2) TEE™ (3) SEHRferdl @) [ @EEa
53. Tr=Afafed g sl - WW(A)aﬁwzﬁ(R)ﬁmaﬁwﬁﬁquwmgqm
I T (
AFURAT (A): T T Hod1-Ifd ST dqmleﬂa?ﬁ Feiat =t wfdfefied et €1
e (R): H%ﬂ?ﬁﬂﬁ%ﬁﬁé@&ﬂﬁﬁ?}ﬁ?ﬂaﬂ@mmw%mmﬁ@%
TS g e _
7= |/
1)  (A) 3R (R) S TE & R (R), (A) T TE AR T | y
2) (A) 3R (R) T wE &, @fw (R), Waﬁﬂﬁwﬁ'@%
€)) (A)W%W(R)W%lﬁ  {
(4) (A)nm%?rﬁm(maﬁ%m :
54. o - 1 AR G - 11 L. GAfA Rt AR 1< T 70 Fi # | wé S i :
get-1 J{ g - 11
(fafer) ( TTER W T )
(a)  fogdta sus gia o= () @M = gEta
/ (b) fere W = (i) T T Y
() T &= =1 faenfa (iii) e @
(d) &g = i faefa (iv) F9 T @M
HT: |
L @ () (o (d)
Wi, O Gv) ()
2) =@ (@) (v) (i)
(3) @ @) () (i)
(@ @) () (i)
pos |H||H|||\ CIIRRH .
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55. Which of the following statements are true about simple bivariate linear regression ?
(a) The b coefficient is a slope of the regression line.
(b)  The b coefficient denotes change in Y, when X changes by 1 unit.
(¢) The errors of prediction have a mean and variance of zero.
(d) If the b coefficient is significant, the product moment correlation betweengX and Y is
also significant. /
{
Codes : 4
(1) (a) and (b) (2)  (¢) and (d) () (@ () and () (4) (@) (b)and(d)
c" '
~ B (
56. People vary in their perceptual - cognitive sty}e{ which}may be due to :
|
/ , '
(a) The degree to which their perceptions are flexible _I."
(b)  Aspects of their personality ﬁ
(c) Rigid belief A f
(d) Field dependence or mdej:hnﬁignce
B
(e) Motives
Codes : .
{ -
1) @ )@@ @10 @ 6 ©deE e @ (@@ o) d
‘4
57./ Which of the foll wing fit into declarative memories ?
(a) Semantic memory (b)  Short term memory
(c) . Episodic memory (d) Procedural memory
C(hdes :
v
(1) (@) and (c) (2) (b) and (d)
b) and (c (4) (a), (b), (c) and (d)
IH\IHIHH |H|\ 2 —
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55. freAfafEd w91 wum 9m fg=r as amgan fow § 9@ @ ?

(a) b I[UII THIHIT XG@1 I TTA R |

(b) =& X H T THE 1 IREH gl € S b o Y H qRed il @i g |

(c) TEEH S Jfe 1 TR T AT SR KT 0N 7

d) 3 b UM Fiefdw T WX T Y 1 Treae A Heday off defe grm| p

%< f ;

(1) (a) e (b) (2) (o) T (d) 3) @ OINE) . (4) (@), ()7
56. WW—WWﬁWfWWW,%&%W— ;

(a) WWWWWWW{%I |

(b) =% Al F Ted | \ J}

(© & . o

(d) &I 71 8 T - )'f

(e) U h -

He ! ’

1) (@) (®) (C). (d) | @ 1®), @ D B ©@de @ @ (@@ b)
57./ f A=A =t 3 e T % g H el e § 2

(a) @FefTa wyfa | (b)  3TcTehIicTsh Hfd

(e)" it g @ e

™

1) @ () ) (b)T(d)

G () @® 4)  (a), (b), ()T (d)
s N IHIIHHIII 2
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58. Read each of the following two statements :
Assertion (A) and Reason (R) and indicate your answer using the codes given below :
Assertion (A) : In operant conditioning the rat presses the bar spontaneously.
Reason (R) Shaping is a procedure in which rewards gradually guide an animal’s
behaviour toward a desired goal.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A). \ p
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). { y
(3)  (A) is true, but (R) is false. l'
(4) (A) is false, but (R) is true. . .
1 .
1 {
59. According to cognitive approach. The role of 9£’eacher‘isl to :
(a) Correct wrong answers (b) _..'%Zorrelct mislr,lconceptions
(c) Facilitate and Supervise (d) f Teach‘:ffeétive strategies
Codes : F
(1) (a) and (c) (2) (a) and g‘d)«. 3) (b? and (é) (4) (b)and (d)
. a_){ |
60. Match List - I and List - IT and indicate your correct choice by using codes given below :
List - I . List - IT
(Theories of miotivation) (Characteristic)
(@) Drive theories i' { (i)  Pulling by goal
(b) Incenti\:e_ theories (i) Information
(©) Opponengaprocess theories (iii) Hedonic
r (d) Cognitive (focilé}l) (iv) Pushing toward goal
Codes :
@ 0@ @
@ O @ 7§ 6v)
(2) Viv) @) (i) (i)
G & O @ @
4) (@(v) (i) (ii)
vous I II\HIHII\ 2
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58. frefafed §1 wedl - tfeRe (A) 3R @eh (R) 1 afer 3R = fSu Fel 1 ST 3 g 791
wa‘lﬁq:
AR (A):  Afafdw TeE o 9@ 98 %I Wa: Thd o |
e (R) : STIEIV TH TohH T, 90 TR oiR-¢ 9Y] o FeeR & 3fad @8d &l 3R
e a2
e
1) (A) 3R (R) I T2 € &R (R), (A) T T8 @A | e
@) (a) sl (R) ST E A (R), (A) F T o T ; !
3) (A) T T, AfRA (R) TTerd 7
(4) (A) 7T T, fhA (R) T 2
E.
59. WW%WWSJW#W%% =
(a) ToTd ST I FRl hLAl (b) | ”%mwaﬁaﬁa%ﬁm
() HH T IR qHALIO BT (d) uw%?ﬁm%arﬁﬁﬁf&ﬁm
(1) (a) ¥R (o) 2) <a>aﬁ'{<§>~ OCELG (4) (b) ¥R (d)
60. W-Iﬁﬂﬁ-llﬁ@ﬁﬂﬁ%ﬁﬁiﬁﬁ@%@ﬂ@ﬁﬂﬁ@@ﬁéﬁq:
geft-1 it - 11
( g % faegTa) ( 3tfrergroT)
(a) oAare fagia { () " % HIEAw ¥ WO
(b) - om fagia (i) =T
[ (o) faeh Wﬁ; (ili) FGEHR
(d) FEHS ( ) (iv) & T SR gaherl
&R [
L@ e @
ML, O @ i) ({w)
2) = @Gv) (@) () (i)
(3) (11) @ @) (@)
(4) @) (i) (i)
o |H||||\|H|\||\||H|H|H||\||\|||\|H||! 2
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61. Match the List - I and List - II and select the correct answer from codes given below :
List - I List - IT

(a) Mitwelt (i) A person exists in a given particular place at a particular
time. Being conscious of it one can choose the direction of
one’s life.

(b) Dasein (i) The experiences and meaning we share With jothers
through our relationships r;

() Unwelt (iii) Unique presence of human beings of jself-awarene§s and
self relatedness.

(d) Eigenwelt (iv) The biological and natural environment forrhuman beings
and animals including bidlogicf'll needs, drives, and
instincts. :

s’
Codes : ,.*'f ,'I
¥ | I
| .'l
@ () () (@ : \ /
M 6 v G G Y.
@ i) @ 6 @ e (
</
@ @ O G @ oy,
4 Gv) @) @) @
{ -
62. Intelligence is necessary but not sufficient condition for creativity. It represents :
(1) Threshold! theory (2) Certification theory
' ‘ |-
) InterferenCEf theory (4) Collaborative theory
63. In which of thelfollowing disorders a person has two or more different personalties, and
eiti{‘ler of whichis dominant at a time ?
(1) ?rDissociative amnesia (2) Split personality
r

(3) Dissociative identity disorder (4) Schizophrenia.

g 0
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61. HEIT- 1 Tt - [1 9 Fafera & oiR = w70 e & Wt S| -

el -1
(a) foese
(b) =EA
(c) 3T
(d) e
e

(@ (b) (o)
M @) (v) (i)
(2) (@) @) @)
@) (@) @ (@v)
(4) (v) () (i)

ii)

iii)

(
(iv)
(
(

)

T - 11

(i) o Al fqu T foret wom fav w fret g9 fovm w =4

a1d & Wfa o wa § T 9 o1 Sfiaq &1 feen &1 ghe aR
HHa 2 |

(i) &9 oTa Heell & HeEm @ mwﬁaﬁ%mawﬁaﬂmﬁaﬁi

a79ff T AT A B .f’

(i) wﬁaaﬁwmaﬁimaﬁwﬁﬁawwﬁwﬁn

£
(iv) Sifas savasmas sTHel SR A9 ygfadl /@fed 7ma iR

il % fee Sifees, o TTFfae T |
f//
/
|'r.

""\
ﬂj
i

62. g & fag g@mmweh ?, T, TaTa feufa & §1 % Freafafaa § 9@ fege steame

FAT & ?

) vavH fagr
(4) waArh fagr

63. freferfia & @ b foreinfr & < o < @ afiersy formi-fory =afoesl 2 € ot o wmg A 1 4 @
foRgiT Ceh T el 2l & 2
(1) y er'{HIrHQrdOI THATET (2) dfed sAfra
() erEEed ygaH ol (4)  wtTereerdn (Fagshiam)

vous [ MRV 31 paperan
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64. What is not true of facial feedback hypothesis of emotions ?
(1) Acting as another acts does not help us feel what another feels.
(2) Facial expressions influence our emotional experience.
(3) To be empathic mimic other’s emotional expressions.

(4)  Professional actors exhibit expression specific autonomic nervous system ghanges.

"

{
65. Which is not a characteristic symptom of Narcolepsy ? ! I
(1) Cataplexy (2) Sleep paralysis = , -
(3) Nocturnal myoclonus (4) I—;pnagagic halli-lcinafions
»
/ |'

/ , !

66. In a study, twenty-five subjects performed|the sane taf';sk under three conditions-relaxed,
moderately stressed, and highly stressed. The suita ;:.{énalysis of variance was carried out.
The degrees of freedom for the conditions X subjects interaction (used as an estimate of error
variance) would be : —

. [

e

(1) 24 (2) 484 ;; (B) 72 4) 74
H

67. Which one of the following is not included in Hackman and Oldham’s Job characteristics
model of work motivation.?

i
(1) Variety of(skill { (2) Significance of the task
(3) © Quality ofijob life (4) Autonomy
a

68. Which is the correct sequence of stages involved in creative thinking ?

(1) Preparation - orientation - illumination - verification, incubation.

\
(2)} . Preparation - incubation - illumination - orientation - verification.

of

(3) " Qrientation - preparation - incubation - illumination - verification.

Orientation - preparation - illumination - incubation - verification.

HIINIHIIIHH NN
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64.

65.

66.

67.

68.

ad

T BT ST AR YTaehed 1 H @ 77 |l R © ?
(1) st o= oo o s1fa § &6 8 STg4fd 78 rdl S g o1 Bidt ¢ |
2) A TS TR WA ST i Fefad el ¢ |

(3) dequfd TN | TR Y FormmeHeh TSI T ST Bl ¢ |
)

(4) TR sfRar sfires-fafire wm dies gee aited S w e s g1 [

Freaferfr & & 2 a1 STl A T T f

(1)  Tas= feaerar (Ferars) (2) fer e <RE oswar C
(3) e et st 4) #@aﬁsﬁﬁ«r - |

A

i
f/

Teh 3199 § U=eid YA 4 2TH, Y S e swl olqulaﬁ?ﬁ'rr yfifrfaal o we e foafea
foam 1 e o1 st foaversor fvan w1 wfkfeufaat X SR (Ffe THI0 & STIHE &
T H g ) B

(1) 24 2 48 & 3) 7{. 4) 74

Ny

| T
79 & 9 =19 1 TR IR 3Mced & S ATYon & wE (Sid) fyvcer giea d wfaa T8f foman
S

1) ot 1 fafae ( (2) wF F A

@) =wd Tvﬁa.‘rr-;ﬁ TUTeT (4) A

Wﬁ?ﬁﬁﬂtﬁﬂrwﬁwﬁ?—wwﬁ%?

OoF ﬁaﬁr—uaﬁa?—m—w—aﬂzw
(2), - ST AT Foh Tl el - FeT
3) ‘iusha'rr T - ST T TS T

(4) TSR] - TR TR ST AT 0T eI

W
w
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69. Which of the following is not correct of the Piaget’s theory :
(1) Disequilibrium terminates in structural change
(2) Individual stages of development cannot be skipped or omitted from the sequence.

(3) Stages of equilibrium do not last as long as stages of disequilibrium 9
§

(4) Later stages are independent of the elements and experiences of early stages ."/ ,
r [

4

r

o

70. Match the List - I and List - I and select the corre_(:t_g_mswer{by c}}oosing from the codes

given below : ‘
40

List - 1 /| List-T
| f

f
(a) Knowing one’s emotions (i) Havini #ﬂls in managing emotions of others

.!"'

-

(i) Handlidg feelings and emotions so they are

(b) Motivating oneself %4
< {f appropriate

¥
(c) Managing Emotions . 4 (iii) Marshalling emotions in service of goal
(d) Handling Relationships (iv) Monitoring feelings from moment to moment
|
Codes :
‘4
4 (@) (b) T) (D)
D Gv) (@) G @)
@ o @ @
\
G)w@d () (v) (i)
&
@) @) @) @ ()
a1 ’ Faper
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69. Tqarsl & fagia & an # frefafad & 9 ®F 91 %" 97 781 & 2
(1) STEeM, TF gied H JHr & a1 ¢ |
(2) fowm & Jafaqs =Xl 1 A qIe &l S Hehall |

(3) TS % =N, & % WX & qel SR ST A W WA e ¢ |

(4) e T S T ST T AE & SR A =T s @ 2 -r’;
70. Welt- 1 g - n@gﬁﬁaaﬁaﬁwﬁma@@/@wgwaﬁ ‘
Tol-1 [\ et
(a) T () %}%ﬂaﬁﬁmﬁmwmﬁw
(b) & ! WA .ﬁ;"‘(n) wmrwﬁﬁqwmawz%
N, J A
d) aﬁa‘faﬁﬁm{ - (iv) STO sTrarIatt s aror-wfaaror FRRT e
% : 4 |
(@ (b) ‘Fc) | (@
M) ) G G0
<21' O @ ) @
<3>‘ L)) @) G
() @) 0 @)
pous |H||H|||\ M 5
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71.

Instructions for Question numbers 71 to 75.
Read the following paragraph and answer the five questions that follows :

The most popular method of measuring attitudes is to administer the attitude scale. Although
Bogardus Social Distance Scale (1925) is one of the first attitude scales, a major breakthrough
in attitude scaling was made by L.L. Thurstone who developed the law of Cf)rﬁparative
judgement (LCJ) and also proposed the three scaling methods - paired comparisoﬁ,; equal
appearing intervals, and successive intervals. In the paired comparisod, every statement/
stimulus is paired with every other statement/stimulus. The computational rrtethods of paired
comparison are most extensively developed and use Thurstone’s LCJ directly for this purpose.
Since the paired comparison method has limitations.in‘scaling iarge number of statements/
stimuli, the two other methods - equal appear}n’g? interv’alls, and successive intervals - were
developed by Thurstone. The method of sucqéssivelinter\l}als was computationally laborious
in the pre-computer era and hence it was not so pgpular. In the classical scaling tradition
Guttmann developed the scalogram techniqu:j)a d Edwards developed the scale
discrimination technique. Likert’s development of summa’ged.—r'Jatings represent an important
landmark in attitude measurement. Ttifollows the trhditional psychometric model. Aiken
and Groth - Marnatt (2009) poih:ceé{ out that other séaling techniques, less frequently used
for attitude assessment, inc:ludx,l @sgéod’s semantic differential, Q-sort, magnitude estimation,

expectancy value scaling, facet analysis, multidimensional scaling etc.

i,

-

|

If eleven attitude statements are to be scaled by the method of paired comparison, what
would be the ntimber of pairs ?

1 11 f Vo s5 3) 110 4) 121

72. In;:/vhich of the/scaling method, item-remainder correlations are frequently calculated ?
(1) . Equal appearing intervals (2) Paired comparison
Successive intervals (4) Summated ratings
HIINIHIII\HIIIHHHHH\\IHIII\HIH\H .
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Y &A1 71 | 75 T o AT ST ¢

frefafea T i 78 iR frefafed ure 7o % W e

sfygfa &1 AR ®1 gaifus gfag fafy sifvgfa A =t emen &3 €1 et armed |Rrd
fewda w1y (1925) Eammdt AfHard A9 HFEUEl § ¥ T €| Tel. U o i qericaen 019
ﬁm(mqﬂ.a.)ﬁmms@%ﬁmmaﬁmﬁwmm%@w@
3= 1 g fafet qen g germ, 9um sfaue fafy ok stswfae siaua fafemi w1 ot gfare

fam | IfHa g H Y& e / STEITT Sl TS 3T FHUA/IGIA @il gfina foran S €1
qﬁmmaﬁﬁwmﬁfamﬁmwﬁwwwﬁggm%ﬁgﬁﬂm?ﬁm
e 0 4 o 5 AL, 1 7w v S T T T R S A
It o fafe 1 7ot F= e § qenta w&jﬁmwamﬁfaﬁamwmﬁfa
3R TRt ofawre fafy udmdﬁﬁmfﬁgﬂﬁaﬁmmﬁrﬁl SRS &9 9
FHETA off AR TAAY T8 31 UG T2 2l Tl | W@#jﬂﬂ T H TEHT | ATATIAE T
qq TS A o feferfiaym dais quwrﬁd Ecall WLE;'I{T fosrfaq =1 T2 guHfaq wife
oot fofi sifirgfin s 1 foen o et vt g g T TR AR T
AT fohann T B 1wl ﬁiﬂ#ﬂiﬂﬁ? (2009) 7 T 1A e © fo oTrre =t fadfe fedf<ma,
-9, Hfiege TReqyH, o= oed ThidT, Hae T 9, AeeSRa=Ma Whid T e dfed
mmﬂﬁiﬁaﬂﬁfﬁqﬁrﬁww%mquwwm%l

"o
71. ;A Ffrwa ger <k fafy g1 e srfwefa et i wr o S e @ g Bt we o e ?

1 11 (@ 55 3) 110 4) 121

' |
72. I © 1A faft 7 sgen fotet gedes i TUAT IREN S © 2

(1) . T st fafi @ 3 gam
(3) SIehHH I (4) wER{AA Hife fgRom
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73. Read each of the following two statements :
Assertion (A) and Reason (R) and indicate your answer using the codes given below :

Assertion (A) : In method of equal appearing intervals, median is often used as a measure
of scale value.

Reason (R) : In normal distribution mean, median and mode are equal.

Codes : :
f

(1) Both (A) and (R) are true and (R) is the correct explanation of (A). 4

(2) Both (A) and (R) are true, but (R) is not the correct explanation of f(A)' . p

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true. B f

§
ANl S
74. Which one of the following technique usually fﬂz’lds mlﬁt.idimensional attitude scales ?
|

(1) Summated ratings (2) r."rPaired con]'parison

(3) Equal appearing intervals 4) Scalo%e;?i
75.  Which of the following technique/s i8/are well-knowh for being associated with cumulative

scales ? f |

.

(a) Bogardus Social Distance ﬁcadiés

(b) Likert's summated ratir_lgs

(c) Guttman’s scalogram analysis

(d) Osgood’s semantic differential

Codes : '

o
) () (a) only £ (2) (a) and (b) only
" (3) (a) and () nlyl' (4) (a), (c) and (d) only
I
\ -00o0-
vy
y r
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73. Trefafea 3 weAl - sifiere (A) 3R @@ (R) 1 afer 3R = fSU Fel 1 ST 3 g 791
3ﬁTﬁﬁm:

AUFRYT (A):  HHM Faud fafy H wifearert 1 IUA & A9 Yo o HYish & &9 H foham S

T
T (R) : T ferawor ® wred, wifeoreht iR sgets THH B ¥ |
e
(1)  (A) 3R (R) 31 W € IR (R), (A) F1 T = 7
2)  (A) IR (R)TE & T, AfHA (R), (A) FT T A 7T L | { r
() (A)TE g, AfFA (R) Tod B
(4) (A) e €, Al (R) & T
'i
74. fAfafEd 9 3 ﬁﬁaﬁm@@mﬁ%m%wwmﬁ
(1) GEEhfad sife fHufo @) | gﬁﬂa _.a'
(3) HHM e fafy (4) WNi;;
75, wﬁm%www%mﬁm}%@ww@%%@m%v
(a) @NTEH I HRTA few {-c‘»w <
(b) Ta®e &1 TomERfad wifefHgRm
(c) TEHA H Wﬁ@ f‘are?rw
(d) TS &1 feritfeomn fetf~ra
e J .*
L F @) (2) F (@) JR ()
L @) F () ﬁj‘(c) (4) ¥ (), (0) 3R (d)
.I
| -00o0-
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